=10 A:(a ”),B:(

c d

(1) a,b, ¢, d DEHERS L,

SRES | 6 i
H = 254 Zz D1
; ‘12) L343, AB=BADL %, ROMWVICER L,

0 absbee=1, ae _%, b> 0 29178l A R &,

(3) (2) TESNIATI AHL, E+A+ A2+ + A0 BRDE, 1L, B ((1) ‘;) r¥%,

(5 1 FDREERR]

i at

OMI (474—50)




F2R xomMwiIcEZ &,

(1) a) = 1, Ap+1 = Qp +3"

RS

(n=1,2,3,-) KXo TEDSNZET {a,} D—EHERD K,

(2) by =3, by = 3b, + 321

(3) (2) DBII {ba} KL, Y b ZRDE,

k=1

(n=1,2,3,-- ) ICE>TEDLNDEF {bp} DT ZRKRD X,

254

zTD 2

(56 2 M DfREEFR]

N

OM9(474—51)




2 F 254

FTIM xomMVIEZ L,

(1) /zcoszdz ZRH K,
(2) ROREWMIZT f(z), g(z) ZRD X,

1
f(0)=1, f'(z)=—sinz - 3/ tg(t)dt
0

9(0) =0, yay:&-3£3ﬂom

D3

(%8 3 B DREEFA]

0 Gt

OMY(474—52)




	img_tokudai2011074
	img_tokudai2011075
	img_tokudai2011076

